NDA & NA EXAM-II-2019

WA A T TG T GIT WA KA FET G T 7H A WA

# .. : BEM-D-HTM e qfE S

bt gteror gferen
(1343697 | ‘@"&H A

-

e | W ot Eael

™

10,

WITEN FR 3 e =TE, AT v it gierer ff sy sren w0 & i g wn e w,
T T T T S v Wi, SR wwy | whd e, o phw ol offee & s it |
o e vl fal OMR 3wR-wrs # whie v o, O e e wine giever sepem (v
WYE) A, B, C U7 DY, o o faen fift wow m firemfr i o sfe sy ot ) Bl
Faitzar # & | fedt ot wer o  / faeimfy o fenfy 3 g fros = oy o
T e R o H i s 3 S S
wepieh foraen & |l ffirn o o fivd |
mwﬂmgﬁmﬂmm[mlhwtlmmwmﬂﬂﬁiwh
Wi W # WK W (w) fio o § | v @ vE v o w |, F S Ie-Te W
sifer e W § | of s e W o @ orfies wege wd E, @ S w9 s W
W T T | s e % f e v f s e b

T 3 Tt e s # F o - s e w § |- A fin v Fd A |
WHT WaAni ¥ 5w we §

e e T s wliern afeem & fifion st 3 s aoe-ws o s won o w1, s
Wy W & wva A gt % s g fem s A J

AT S T W] W I-T H WO o =0 A S & e 9 S - i
i & 1 s s e v gfee @ o o sl

=t wm % for e wlter gfevn W o ot e § |

mmﬁiﬁqm:

wegfies wem -t # g g fig w wem g & i g f o

(i) v v % i W A am § | oediem g wete e i g fem o e e

& o wem e Py fir st o e - v g % w3 e o |
iy e i Tefiean T W afi T g 8, W @ e e wEn e, i B e 6 A
s o g , it e fr e h e o e |

(i) aft sedieam g o v o ol fm o R, sl seder g el R e R,
it 5 s & form =g gee ot fn o |

WAl 7 HTOHT T TG GIOTHT Wi W A HET A A 76 A G

Note @ English version of the mstructions s printed on the back cover of this Booklet,



1. afe p 3R g 2T Tg== {1,2,3,4} 9 &,
WA px+gx+1=0F T F THIF,
e 7 areafers <, i vem T e ?

(a) 12
(b) 10
(c) 7
d) 6

c1-2+3-4+5—.... + 101 <°T AT =1

??

(@ 51
(b) 55
(c) 110
@ 111

3.9 4, B 3R C ot o 1o s &
Juag=d g, @ fFeafafea w=ut & &
AT Gy el et © ?

(a) AUANB) =-AUB

(b) AN(AUB) = 4

(c) (ANB)UC = (AUC)N(BUC)
(d) (AUB)NC = (ANC)UBNC)

4. 7f frft Aoft F woH » UG w0 AT
(n+ 12) &, T 6 O UG FT R ?

(@ 1
(b) 2
(c) 3
(d) 4
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5. ks 9% A 41 & s forg

2x2-2(k-2)x—(k+1)=0 & Tl &
T T AR g § ?

(a -1
(b) 1

3
(©) 5
(d 2

. afe wefe=or

ab—c)x*+b(c—a)x+c(l@a-b)=0

& Ao @A €, qf Fefafaa # @ @

e ® ?

(@) a,b3Rc, APHE

(b) a,b3Rc, GPHE

(c) a,bdARc, HPH &

@) a,b 3K ¢ frEt i fafa e =
e el ad

. afg |x2—3x+2| > x*-3x+2 8, @

feffedaamarwwad & ?

(@ x<1qTx=2

(b) 1sx=<2

(N xi=2

(d) xo &g A TRt T B "
g fam3sk4s

. T TR 30ft (GP) & 200 g € |

afe 30 GP & fomm uct @1 avTee m ®,
3R |H UGl 1 ANTHA 7§, AT TR AT
AT T R ? |

(@) m/n

(b) n/m

(c) m+ (n/m)

(d) n+ (m/n)




1. If both p and g belong to the set

4.

{1, 2, 3, 4}, then how many equations
of the form px? + gx + 1 =0 will have
real roots ?

(@) 12
(b) 10
() 7
@d 6 /

. What is the value of

1-2+3-4+5-...+1017
(a) 51
®) 55
(c) 110
(d 111

.IfA, B ahd C are subsets of a given set,

then which one of the following
relations is mot correct ?

(a) AU(4ANB) = AUB

(b) AN(AUB) =4

(c) (ANB)UC = (AUC)N(BUC)
(d) (4UBNC = (ANC)U(BNC)

If the sum of first » terms of a series is
(n + 12), then what is its third term ?

(@ 1
(b) 2
() 3
(d 4

5. What is the value of & for which

the sum of the squares of the roots

- of 2x2 —2(k—2)x —(k+ 1) =0 is mini-

mum ?

(@) -1

©

=

2
d 2
If the roots of the equation
a(b-c)x*+b(c—a)x+c@a-b)=0

are equal, then which one of the
following is correct ?

(a) a, b and c are in AP
(b) a, b and c are in GP
(c) a, b and c are in HP

(d) a, b and ¢ do not follow any
regular pattern

7. If |x2—3x+2| > x2-3x+2, then

which one of the following is correct ?
(@ x<lorx=2

b)) 1sx=<2

) 1 <x<2

(d) x is any real value except 3 and 4

. A geometric progression (GP) consists

of 200 terms. If the sum of odd terms
of the GP is m, and the sum of even
terms of the GP is n, then what is its
common ratio ?

(a) min
(b) n/m
(c) m+ (n/m)
(d) n+(m/n)
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9.

10.

11.

12.

afe T =T 4§ 3 ama ¥ ok g
=99 B A 6 99 ¥, A (4UB) ®
aan foram s 8 g € ?

(@ 3
() 6
(c) 8

@ 9

Teh Aeeqs & faamur i gear a1 ¢ 7

(a) 48
(b) 40
(c) 28
(d) 20
N 9143
2! 3! Al|lEwTHHETE ?
341 5)
(a O
(b) 12
(c) 24
@ 36
x%’oﬁﬁﬂﬁﬂﬁ“ﬂ"ﬁ'ﬁ(ﬂl
% 0. 2 13x.0 2
2% 2« 1l+l=* 2 1/=0
L N | (T W |
& TISE A & 7
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(a) —2++3

)W

13.

14.

15.

(c) -1%6
@ 26

?lﬁx+a+b+_c=0%,?ﬁ

x+a - b c
a x+b c

WA TS ?
a b x+c

(a 0

(b) (@+b+c)?
(c) a®+b%+¢2

d a+tb+c-2

L
G
(a) T LA ATqE
(b) TH TEHH AR

(c) A % SR

]%,??rmAB—zAZ

(d) —A4 & SR

WW%mSﬂfn(m<n)HThw
x2—16x+39=0% 91 € | afe m 3R n
%iﬂ?ﬁ,qﬁqﬁp,q,raﬁ'{siﬂm
W W & 76w 4P (wwraR Avft) &=
W,?ﬁp+q+r+sﬂﬂﬁﬂ’%?
(a) 29

(b) 30

(c) 32

(d) 35




9.

10.

11.

12.

If a set A contains 3 elements and
another set B contains 6 elements, then
what is the minimum number of
elements that (AUB) can have ?

(a 3

(b) 6

(c) 8

d 9

What is the number of diagonals of an
octagon ?

(a) 48

(b) 40

(c) 28

(d 20

What is the value of the determinant

| e |
21 " 31 41
3! 4! 5!

/-

(@ 0
(b) 12

() 24

(d) 36

What are the values of x that satisfy the
equation

XL Qs 2
2x 2
1A ('

-+

13.

14.

15.

(a) —2++3
(b) -1+43
() -1x+/6
d) —2+6

If x+a+b+c=0, then what is the
value of '
x+a b (i

a x+b c
a b x+c

?

(@ o

(b) (a+b+c)
(c) a>+b*+ 2
d a+tb+c-2

1 -1
If A=[ ] 1], then the expression
A3 —242% is

(a) a null matrix

(b) an identity matrix

(c) equal to 4

(d) equal to —4

Let m and n (m <n) be the roots of
the equation x%— 16x + 39 = 0. If four
terms p, g, r and s are inserted between

m and n to form an AP, then what is the
value of p+gq+r+s?

(a) 29
(b) 30
() 32
(d) 35
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16. fre witeg & aefim feama wefiawor

17.

18.

19.

XZ+mx+2=0 & TA, GHAT &G
T 7

(@) 2+/3<m?<8
(b) V3<m?<4
(c) m?=8

@ m?<A3)

2019 2019
3 A
[”‘6] 3 [’ f] & | T

2 2
7
(@ 1
(b) -1
(c) 2
() —2i

uﬁ:aaﬁ?ﬁmhw
RLHx+1=0FFAE,

3 (a7 + B7) e e # 2
@

(b) 6
(c) 4
@ 2

e fommed #, 50% B fohdhe Uoa ©
3R 40% B Feaial Beld & | A 10%
B Sl T GEd &, ar TR wfa
oA a9 a1 ke T € sk 9 @
Fedid ?
(a) 10%
(b) 15%
(c) 20%
d) 25%

BEM-D-HTM - A

20. afg A={x:0<sx=<2} 3ﬁ'€B={y; ¥y

21

22.

23.

U AAT €T §) ©, a1 ANB fras
e § ?

(a @
®) {1}
© {2
@ {1,2}

JAfe x=1+i ® A x5+x4+x2+1 &

HE TR ?
(a) 6i—3
(b)" —6i+3
(c) —6i—3
(d 6i+3

2 HHE TR ?

(@) V2-1
(b) ~2+1
(c) 3
@@ 4

e P(n,r)=2520 3 C(n, r) =21 &,
MCm+1,r+ DHRAFFTE ?

(a 7
(b) 14
(c) 28
(d) 56



16. Under which one of the following

conditions will the quadratic equation
x2 + mx + 2 =0 always have real roots ?

(a) 2\3<m?<38
(b) V3sm?<4
(c) m*=8

d m? <3

20. f A= {x:0<x<2} and B={y; y is

a prime number}, then what is ANB
equal to ?

(@) @
() {1}
() {2}
@ {1,2}

17. What is the value of 21. If x=1+1i, then what is the value of

[i+ﬁ]2019+ [L:ﬁ:row . WOR AL 22l
2 2 (@) 6i-3

(@ 1 : (b) —6i+3
(oY=l () —6i-3
2 (d) 6i+3

@) -2i

18. If o and B are the roots of 22. What is the value of

x*+x+1 =0, then what is _ 24 1 9
3 1 ;
E(af+ﬁf) equal to ? 2+ 1
- + A R IR
Jj=0 2 25k il {000
(a) 8
®) 6 (2) A2 =1
(c) 4 (b) V2+1
d 2 © 3
19. In a school, 50% students play cricket d) 4

and 40% play football. If 10% of
students play both the games, then what

; ; 23. If P(n, r) = 2520 and C(n, r) = 21, then
per cent of students play neither cricket

what is the valueof C(rn + 1, r+ 1) ?

nor football ?

@) 10% (Rln
) 15% (b) 14
©) 20% (c) 28

(@) 25% (d) 56
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24. (1 +2x+x2)%+ (1 + 4y + 47)° & WEOR

26.

# e ®
@ 12

() 20
)21

@ 22

2n
" 25,3y (f%) ¥ WR ¥ W 9

184756x1° %, AN n FT AT T § ?

(a) 10

(b) 8

) 5

d 4

af 4= :1’3 3ﬁ'(B=(1 2) &, a
3.4 2 1

feffea da s aradi & ?

(2) AB 3R BA QI &1 SAfere &
(b) ¥ AB T fcica ® 3R 7 & BA

T

(c) AB = Af&ra ®, Wfh BA &1
siferea e ©

(d) AB @ sifeea el §, e BA S
sfeTea ©
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27.

28.

e n! A 17 L E, A n AR FTE ?
(a) 95
(b) 85
(c) 80

(d) n < TET HE A TE

{1 «ifora &6 AUB =

{x|c—a)x—b)>0, &1 a<b} © |
A 3R B e sra € 7

(@) 4= {x|x>a} 3R B= {x|x> b}

- (b) A= {x|x<a} IR B= {x|x>b}

29.

(c) A= {x|x<a} 3R B= {x|x < b}
(d) A= {x|x>a) 3R B= {x|x <b)

v&(\/}—é)w ¥ VAR 3 3R TG 405
R, Al k & A T B T © ?

@) +2

®) =3

() )

T (d) 9

30.

C(47, 4) + C(51, 3) + C(50, 3) +
C(49, 3) + C(48, 3) + C(47, 3)
foraes sReR ® ?

(a) C@47, 4)
b) C(52, 5)
() C(52, 4)
d C@7, 5)




24,

25.

26.

How many terms are there in the
~ expansion of

(142424 (I + 4y + 42

(a) 12
(b) 20
(c) 21

d) 22

If the middle term in the expansion of
2n
(xz +1J is 184756x%, then what is
25

the value of n ?
(@ 10
(b) 8

(c) 5

(d) 4

1 %2 S
If A=12" 31| and B=(2 1), then
3 4

which one of the following is correct ?
(a) Both 4B and BA exist
(b) Neither AB nor BA exists

(c) AB exists but B4 does not exist

(d) AB does not exist but B4 exists

27. If n! has 17 zeros, then what is the

value of n?
(a) 95
(b) 85
(c) 80

(d) No such value of » exists

28. Let AUB =

{x|(x — a)(x — b) > 0, where a < b}.
What are 4 and B equal to ?

(a) A= {x|x>a} and B= {x|x> b}
(b) A= {x|x<a} and B = {x|x > b}
() A={x|x<a}and B= {x|x<b}

(d) A= {x|x>a} and B = {x|x < b}

29. If the constant term in the expansion of

12

the values of k& ?
(a) £2
(b) +3
(c) =5
(d =9

10
(JJ_C —i) is 405, then what can be

30. What is C(47, 4) + C(51, 3) + C(50, 3)

+ C(49, 3)+ C(48, 3) + C(47, 3) equal
to?

(a) C47, 4)
(b) C(52, 5)
(c) C(52, 4)
(d C47,5)
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31. 99 Sifoq o6 @, b, c AP HE 3R k=0

32.

@mﬁﬁm%|ﬁmﬁf@aﬁ%
FTATEE ?

1. ka, kb, ke, APH ©
2. k-a,k—b,k—c, APH §

3. 4. b ¢
T

¥ fou T FE M W W TEl SW
g

(a) had 1 3R 2

(b) SHawt 2 3R 3

(c) shaer 1 3R 3

@ 1,23R3

,APHE

3 3t H frat d@g 4 @ fwrsw
g2

(a) 21
(b) 22
(c) 24

d) 25

33, A =i 6 5, Frdt AP v n Q0

&1 AR © | afe Sy, =3n+ 14n2 3,
qA A AR TR ?

(@ 5
() 6
(c) 7
@ 9
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10

34. 7R f5t GP % iR, amsd o s

35.

36.

g A p, ¢ AR &, a1 Tt &
ST AT Her ¢ ? :

(@) ¢*=pr
(b) ?=pg
© par=1

@) 2g=pitr.

x<4,y20 3R x<-4, y<0 &1 &
TR ?

(@ x=2-4,y<0
(b) x<4,y=20
c) x<-4,y=0

d x=-4,y=0

Tfe x1og,* > 7, srei x> 0%, 9 Feafafea
HA I TH TEl § ?

(a) x€(0, x)

1
) xe.[? 7)

©) xE( l)ua 2)

@ xe(%, oo)

~]




3.

32.

33.

Let a, b, ¢ be in AP and k # 0 be a real
number. Which of the following are
correct ?

1. ka, kb, kc are in AP

2. k—a, k—b, k—c are in AP

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d) 1,2 and 3

How maﬁy two-digit numbers are
divisible by 4 ?

(a) 21
() 22
(c) 24

(d 25

Let S, be the sum of the first n terms
of an AP. If S,, = 3n + 14n?, then what
is the common difference ?

(@) 5
(b) 6
(€ 7
@) 9

11

34. If 3rd, 8th and 13th terms of a GP are
P, q and r respectively, then which one
of the following is correct ?

(@ ¢*=pr
(b) P=pg
(©) pgr=1

(d 2g=p+r

What is the solution of x < 4, y=0and
x<-4,y<07?

3s.

(@ x=-4,y=<0
b).x<4,y=0
() x<-4,y=0

@ x=-4,y=0

If x1°* > 7 where x > 0, then which
one of the following is correct ?

36.
@ xe(0, )

1
®) xe(7, 7)

(c) xE(O, )U(?,co)

3| -

() xe(:li-, o_o)
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37.a1ﬁmx2+3|x|+2=oa:ﬁrd§f

38.

39.

FEdfaS A © ?

(a) A

(b) TH

© @

(d) IR

feema wefieor 4(x—p)(x—q) -2 =0,

'ﬁﬁi’p,qaﬂtr Wﬁﬁﬁ'ﬂ@m%, ED
oy ¥ freafafas | fer fifsw

1. 3H& I ARGt ©

2. 36% T @M § afk p=¢q K
r=0%

Ioeh F A A Aq1/A T wE@ /R
(a) & 1

(b) FEe 2

() 1323

@ A1, IRTE2

A ifoig o6 §={2,4,6,8, ........... 20}
R 1 S % Suageaal N sifteaw we

TR ?
(a) 10
(b) 20
(c) 512

(d) 1024

BEM-D-HTM — A

12

40. Us femeart €@ (cdecddeceddd), ¥

41.

42.

frefia i st R, Sl c>d ¥ | @A
QAT g 1§ ?

(a) 1848
(b) 2048
() 2842

(d) 2872

29 e
7fe cosecH= it el 0< 0<90°%, Y
4secO+ 4tanf T A T ¢ ?

(@) 5
(b) 10
(c) 1S

(d) 20

frrafafaa sgat w fmr Hifs

1. cosf + secO T M 1-5 és'aw
A&l Bl "R |

2. tanf + cot@ &N W 2 | FH FEl &
HohdT |

S # & N A/ @ /8
(a) Faa 1

(b) Fad 2

(c) 1323t

(d) AT 1R AE2




37. How many real roots does the equation 40. A binary number is represented by
x%+3|x|+2=0 have ? (cdccddcceddd),, where ¢ > d. What is
its decimal equivalent ?

(a) Zero
(a) 1848
(b) One
(b) 2048
(c) Two
(c) 2842
(d) Four
(d) 2872
38. Consider the following statements in
respect of the quadratic equation 29
4x-p)(x—q)-r*=0, 41. If cosecO= i where 0 < 6 < 90°, then
where p, g and r are real numbers : what is the value of 4sec6 + 4tan@ ?
1. The roots are real | @) 5
2. The roots are equal if p=g¢ and ®) 10
r=0
Which of the above statements is/are ©) L2
correct 7 - @ 20
(a) 1 only
42. Consider the following statements :
(b) 2 only
1. cos@ +sec@ can never be equal
(c) Both 1 and 2 toia
(d) Neither 1 nor 2 2. tan@ + cot@ can never be less thah
: 2.
39.Let §S=1{2, 4, 6, 8§, ........... 20}. :
What is the maximum number of Which of the above statements is/are
subsets does S have ? correct ?
(a) 10 (a) 1 only
(b) 20 (b) 2 only
(c) 512 (c) Both 1 and 2
(d) 1024 (d) Neither 1 nor 2

13 A - BEM-D-HTM



43. 9 m T TF Higt T TS () &AW
F MY & 9m 9 T forg a6 uga
2 | Hig & UIe { savieue & 9 60°
2 | eavieve i IaTE w7

(@ 9m
(b) 10-5m
(c) 13-5m
(d 15m

44. SHTE g N I SHar A F=@TS T R S

THIgRIMY FaRa g2 47

e
® cos 7]
© 2sin[g)
@ 2003(—3—)

45, tan{z tan"(%)} forass SR %_ ?

48

3
(c) E

G

O | =

BEM-D-HTM - A 14

46.

d=i-2j+k® T b=4F-4]+7k
o Hfeer v&g =T g ?

&

()

—
O 0

()

(c)

& Sl el

@

o

e ¥ WR Gyt & Awa @@
TIEAT e 3T & YRATT & WK §,
ar Freafofea & & <9 @ o wer ® 7

(a) |fw TR €

(b) wfew &= §

(c) afesr wRmmiak €

(d) wfewr sraw 3 |iey B =nfew

.3 afst 7 ok b ¥ R frafiRe

. [a:j.(z_:r:]: |
2 ([ [+-¥[)-

ey
+ —

a-b =

2 2

-5 =,
a b

2 7

+3|| |-

2 2 2

=P =)
axb

IUGh # A R A A TG ?
(@ 1,23R3

(b) a1 3T 2

(c) Fae 1 3K 3

(d) Fae 2 3 3

3




43. A ladder 9 m long reaches a point 9 m 46. What is the scalar projection of
below the top of a vertical flagstaff.

Sho ol e 14 iy S -
From the foot of the ladder, the eleva- a=i—-2j+k on b=4i-4j+7k ?

tion of the flagstaff is 60°. What is the J6
height of the flagstaff ? ' (a) b
LS
(b) 10-5m 9
9
c) 13-5m =
© . @), =
d) 15m
2 N5
@ 19

44. What is the length of the chord of a

unit circle which subtends an angle 0 47. If the magnitude of the sum of two
at the centre ? ' non-zero vectors is equal to the magni-

- ' tude of their difference, then which one
(a) sin(—) of the following is correct ?

(a) The vectors are parallel

(b) cos[—e—) (b) The vectors are perpendicular
(c) The vectors are anti-parallel

(d) The vectors must be unit vectors
(c) 23in(—)
_ 48. Consider the following equations for
%
0 two vectors @ and b :
(d) 2cos(5) , ! :
( =
L. K:,>+;;).(:;_7,*)= A
: 1
45. What is tan Ztan"'(__)} equal to ? / i it 2 2
{ 3 2. Z’+b][?{—b)=?z’— b
\
2
(@ = L2 NN
3 3. |2.2]| + |2xb| =|3] |2
(b) £ Which of the above statements are
4 correct ?
8 (b) 1 and 2 only
4 1 (c) 1 and 3 only
@ 9 (d) 2 and 3 only

15 A — BEM-D-HTM



49. frafafaa womt w R Hifsre -

I szﬂma@%@fw

~ (c) 13R2QH
(@ FM1ARTAN2

50. afz 7 o< b TS wiew € ko o
aﬁamaﬁw%,asmz(g)ﬁmm

7

(2)

(®)

(©)

()

BEM-D-HTM - A
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51. TR ax+by+c=0@'€(ﬂ'}@T'ﬂ'ﬁ
frefta = @

(a) i arEafes @Bl o, b 3R e &
ﬁ‘i‘({ \

(b) e T S a0 W
‘ (c) had all i b= 0 B

(d) Fadaf v a IR HH AT AFH
g T YAR ©

52.%@13ﬁxcosa+ysina=a3ﬁ“{
xsinf — ycosff=a '
& ofi9 T RO FT R ?
(@ B-a
(b) 7+p-a

©) (7 + 2);3 +2a)

(m—2B+2a)

(@) 5

53. fagsii P(m cos2a, m sin2a) 3R

QO(m cos2, m sin2B) % = Hi @ a1

27

(@) |2m sin(a - p)|
(®) |2m cos(a - B)|
(c) |msina-2p)|

(d). |m sinQ2a - 2p)|




49. Consider the following statements :

1. The magnitude of sz is same
as the area of a triangle with sides

3andg

Which of the above statements is/are
correct ? ‘

(a) 1 only
(b) 2 only
(c) Both 1 apd 2

(d) Neither 1 nor 2

50. If ¢ and 7; are unit vectors and 6 is
the angle between them, then what is

sin? (g) equal to ?

@) IE+5|2
4
gl
4
© 'E+E|2
2
; |a-5[
(@) 5

17

51. The equation ax + by + ¢ = 0 represents
a straight line

(a) for all real numbers a, b and ¢
(b) only when a # 0
(c) only when b # 0

(d) only when at least one of ¢ and 5
. 1S non-zero

52. What is the angle between the lines
xcosa + ysina=a and
xsinfB— ycosff=a?
@ p-a

®) n+p-a

© (T+2B+2)
2
(n—-2B+20a)

(@) 5

53. What is the distance between the
points P(m cos2a, m sin2¢) and
Q(m cos2f, m sin2f3) ?

(@) |2m sin(a - p)|
(b) |2m cos(e — B)|
(¢) |msin2a - 2p)|

(d) |msinQRa-2p)|

A - BEM-D-HTM



54. T wwaTg e o ue o (-1, -1) ™

55.

# ik gt i (-3, V3) m® | de
st el W & wewaT § 2

@ (-2, +2)
®) (v2, -+2)

) (1, 1)

@ {,-1)

afe qredga z—z+’b"—z=1 % WY AW &
g fagart =1, seht ws ifs & fram
aﬁh%@nﬁaaaﬁamaawgg,asa
e S Seshrodl #1 R ?

1
(2) E

(®)

St

N|§|

©

BEM-D-HTM - A
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s6. Y@ W R By ¥ PR

58.

(p+1, p=3, '\lip) %s GIET P a'ﬁé
areafas e § | @ S g
(fmr-=rars) a1 § ? '

(@) FwaTH SiEd S R B R
et foram < weRar

: gt AT
57.%@r —=2"=

W ﬁ;h fog ; ﬁ‘a’an; g
@ G,5 4

®) 2,5 5)

©)H{E1ZT, 5)

@ @, -1, 0)

afe ";4=3’12=2;" T

2x—4y+z=7 R @@ &, @ kAW
TR ?

(a) 2
(b) 3
(¢ 5
@ 7




54. An equilateral triangle has one vertex 56. A point on a line has coordinates
at (-1, —1) and another vertex at (pt+1l, p-3, xﬁp) where p is any

(_.J§ .J':,T) Thebhibd vtk iay Tie real number. What are the direction
i ; Y cosines of the line ? :
- on .

- | @
@ (—2,+2)

Ll |
(b) 75“!5’5

® (v2, -2)
Pent il 1
(C) e ey (T
© (1, 1) V2' 2" 2
' (d) Cannot be determined due to
(d)u(1s =1) insufficient data

57. A point on the line
X1 NyzSunzt2
1 2 7+

has coordinates

@ G,5 4

55. If the angle between the lines joining

the end points of minor axis of the
R

ellipse = +b—2 =1 with one of its foci

is %, then what is -the eccentricity of

the ellipse ? ®) 2,5,5)
(C) (_19 _la 5)
1
(a) > - @ 2,-1,0)
i 58, T dhe ling By L2 S ESE
) = 1 - 2
V2 on the plane 2x — 4y +z = 7, then what
is the value of k7
3 (a) 2
(©) iz:
(b) 3
1 (© 5
d) Ls
(d) W) iy

19 A - BEM-D-HTM
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60.

o5 (1, 1, 1) ¥ TRA 9Te T G @1
z-AE <l gATHS e & a9 60° FT
T AT §, 3R 6% ¢RI y-31E 3K
x-HE H gATHS feymett & @ /1y
T RV & HIAET /3 :1 & T H
2 | 78 @ it awifaa < Rt & =
T AR FT § ?

(@) 90°
(b) 60°

(c) 45°

(d) 30°

q& ﬁ@(x’y, _3)! (2s 03_1)3#( (4:- 29 3)

T e YA R R xRy

61.

I A [T ?
(@ 1,1
®) -1,1
) 0,2
d 3,4
a’ b

+ &1 FAaH AF R R,

cos’x sin’x

Wela>03MRb>0%T ?

(@) (a+by
(b) (a-by
(e) a*+b?

d) |a*+ b7

BEM-D-HTM - A
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62;1:1%.’%&&33,430%:@“1@ (THIR

A0N) F €, AR b:c=+3:42 B, At
aﬁﬁAmmaﬂT%?

(a) 30°
(b) 45°
(c) 60°

d) 75°

63. af¢ tand — tanB = x 3K cotB—cotd =y

®, @ cot(4 — B) & HHF T § ?

@ —+-
X

®) ———

i

(Yl —

64. sin(a +f3) — 2sina cosf + sin(a —f3)

feraeh s ® 7
() 0

(b) 2sina

(c) 2sinf

(d) sina + sinB




65. afe 2tand = 3tanB =1 &, QI tan(4 — B)

Sl T 68. cot[.;i) - tan(i;-) e
(a) _1. | (a) tanA4
(b) cotd
| (c) 2tand
®) 6 ‘ (d) 2cotd
(©) l 69. cotd + cosecd Tehteh SRR © ?
7
' A
o (2
@ 5 ‘ 2
A
66. cos80° + cos40° — cos20° ®) co{f)
foraes sRec R ? 5
@) 2 % 2““(5)
(®) 1 A
2cot| =
0 (d) Z2co (2)
@ -19 . 70. tan25°tan15° + tan15°tan50° +
tan25°tan50° feraeh =eR © ?
67.af TR B 4BC &1 |w € @&
FERIT 2, O tand + tanB TFEd R @0
2 ®) 1
()2
2 2
@ =2 @ 4
2 | 71. |x| <5,y =03 y = 8 TR uRerg (FR
Ol == TU) &7 1 EEAhS TR ?
5 (a) 407t TS
©) = (b) 807t FHTS
! (c) 120 3oTE
C
@ ~ (d) 1605 FhTE

BEM-D-HTM — A 22




65.

SO

66.

67.

If 2tand =3tanB =1,
tan(4 — B) equal to ?

then what is

1
(2) -5'

(®)

| =

(D)=

What is cos80° + c0s40° — cos20°
equal to ?

(@) 2

(b) 1

© 0

(d) -19

If angle C of a triangle ABC is a right

angle, then what is tand + tanB equal
to ?

a*—ht
ab

(2)

®)

(c)

@

23

68. What is cot(gj - tan(g) equal to ?

69.

70.

71.

(a) tand

(b) cotd

(c) 2tand
(d) 2cot4

What is cotd + cosec4 equal to ?

@ ()

(b) cot(—;i)

() 2 tan(g]

d 2 cot[%}

What is tan25°tan15° + tan15°tan50° +
tan25°tan50° equal to ?

(@ 0

®) 1

(c) 2

(d 4

What is the area of the region bounded
by |x|<5,y=0and y=8?

(a) 40 square units

(b) 80 square units

(c) 120 square units

(d) 160 square units

A — BEM-D-HTM



72. x# 0 3R £(0) =0 & forg wem 75. frafafeq & & &7 @ fam sewe

fx) = sm[ ) ¥ gay # fefakea Eﬂf({()xi f% G:%T f(0)=5, f(-1)=10
SRS i (@ 5x2-2x+5
L ko fx) =1 3ifere @ ®) 32-2%—5
2. x=0R f(x) §d & ‘ (© 3x-2x+5
ST | | A A /H FoT e ©/ ? (d) 32-10x+5
(a) ¥ 1

AWTRA i (03) weAT % forg fadar .

*ae
®) : ﬁmﬁrﬁqawaﬁw%qaﬁiaﬁarﬁaﬁ
(c) 13R2 ‘ T T % I I :

(d AA1IRAD2 TS T y =me™, 5& m>0, y-9@ H forg

S P R ufcredg e |
73. lim 22X _gFram e € ? | -
x—0 tan3x° ;
76. wic=og fog P WX 95k Y wavrar ()
(a) 1 MR ?
4
: (@) m
' (b) § (b) m2
© % (c) 2m
d) 2m?
@ 1
77. P R @3t @1 y-3E & G T R0
74. Aahd HTﬁT;F{UI A R 7
13 4
&t wra (faft) = @ 2 (b) cot™!(1 +m?)
(@ 1
(c) sin"( L )
(b) 2 1+m
(c) 3 .
@ 4 @ sec™'1+m*

BEM-D-HTM - A 24




72. Consider the following statements in

- respect of the function f(x)=sin(—1-) '
x

for x # 0 and f(0) = 0:

1. lim f(x) exists
x—0

2. f(x) is continuous at x =0

Which of the above statements is/are
correct ? :

(a) 1 only ‘

(b) 2 only

(c¢) Both 1 and 2
(d) Neither 1 nor 2

73. What is the value of fim SIBX"_ 9
x—0 tan3x°

(a)

B =

(b)

W | —

1
(c) E

@ 1

74. What is the degree of the differential

. dsy dy i 2 d4y
equation —d?-k(z) -X = =07?

(a) 1
(b) 2
(c) 3
(d) 4

25

75. Which one of the following is the
second degree .polynomial function
f(x) where f(0)=5, f(-1)=10 and
fa)=67?

(@) 5x2—2x+5

() 3x2-2x-5

(c) 3x2—2x+5

(d) 3x*-10x+5
Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

A curve y=me™ where m>0 intersects
y-axis at a point P.

76. What is the slope of the curve at the
point of intersection P ?

(@ m

(b) m
(c) 2m
(d) 2m?

77. How much angle does the tangent at P
make with y-axis ?

(a) tan'm?

(b) cot™'(1 +m?)

g 1
(c) sin '[ m]

@) sec'V1+m*

A — BEM-D-HTM



78. Pmaﬁﬁmf%@aﬂwﬁamm
27

(@) y=mx+m
(®) y=-mx+2m
(€) y=m’+2m

d y=m*+m

ma.(OZ)Hﬁ%ﬁqﬁfﬁT:

frferfen e @ wRe ok am o ar
2 st 3 g A -

WM AT ) =x% g(x)=tanx 3K
hx)=hx%|

79. x = g & Fo1T [ho(gof)](x) &1 5F FaT
.7
(@ 0
(® 1

w
(c) Z
mw
d g
80. [ fo( fof )](2) frad srag & ?
(a) 2

(b) 8
(c) 16

(d) 256

BEM-D-HTM - A
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81. I foras s & 2
2x? —2x+1 ,
=1 £
@) tan (;-'Zx 1)+c

(b) 2tan'Q@x-1)+c

=]
tan”'2x+1)

O

(d) tan'Qx-1)+c |

dx G
8¢ Ix(]+lnx)" e waw ¢ )t

L +
(n-D(+Inx)"

(@

1-n

(b) mi:?“

n+l L
(1+In x)™!

©

1
- +Inxy

d -



78. What is the equation of tangent to the
curve at P?

(a) y=mx+m
(b) y=-mx+2m
(c) y=m*x+2m

(d) y=mx+m

Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Let‘ f(x) =x%, g(x)=tanx and h(x) =Inx.

79. For 'x=iz_7£, what is the value of

[ho(go)]() ?
(@ 0
(b) 1
(©)

SN

@ 7

80. What is [ o(fof )](2) equal to ?
@) 2
(®) 8
(c) 16
) 256

27

81.

82.

2x2_—2x+1

What is I

Al
tan (22x 1)_|_c

(a)
() 2tan”'2x-1+e¢

=1 1
tan~ (2x+ )+c

(c) >

(d) tan”'(2x-1)+c

What is J'___
x(1+nx)"

1

equal to ?

equalto(n#1) ?

@ TS

) e

(1+Inx)™"

n+1

(c) —_—+C

(1+n x)"™!

(d

A — BEM-D-HTM
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83. frafafaa # ¥ a5 srawe wdfieww &=

1
2x%—c

o8 IR B, F Frefg exar @ ?

HT%F?IH%‘-@?{ =

dy _,. 2
(@ 5-44‘3’

e 1
(b) i

AWRAT 3 (02) WAt 3 foro e .

frfRe g = afew ok Mt T A

Maﬂvrxhex-yqtﬁanfﬁrﬁrq

84.x=1qt%ﬁm%;m%?

(@ o
®) 1
() 2

@ 4

BEM-D-HTM - A

, ST&l ¢ U

28

2
ss.x=1qti_~2" Terereh wrer & 2

(@ 0
(b) 1
(c) 2
(d) 4

AT o (os)wﬁi%;ﬁ:qﬁim

Freffem g = wfiw ok amt sy Ay
A 7 % e AR -

W f6) = g(2) + hsx) R Frare S, ik
g(x) = sin(%) R h(x) = cos (555) ?

86. T g(x) H sEdwE (FiiwE) T
7
(@) =
(b) 2x
(c) 4=
(d) 8n

87. %M h(x) W1 -IaddwE (Nae) wa
L Fd

(@) =

47

(b)5

Sm
(c) 5

3
) =<
()2




83. Which one of the following is the
differential equation that represents the

family of curves y=
2x5i=C

is an arbitrary constant ?

dy 2
a _=4
(@) , xy

(b)

B|&
I

© %uzy

dy ’ 2
)= = A
(d) : xy

Directions for the following two (02) items :

Read the following information and answer

the two items that follow :

Consider the equation x* =e*”

84, What is % at x=1 equal to ?

(a) 0

(®) 1

(c) 2

(d) 4

29

85. What is =2 at x=1 equal to ?
dx

@ O.
(®) 1
(c) 2
(d) 4

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

" Consider the function f(x) = g(x) + h(x)

where g(x) = sin(ﬂ and h(x) =cos(4—5x-]
86. What is the period of the function
gx)?
(@ =
(d) 27
(c¢) 4rn
@ 87

87. What is the period of the function
h(x) ?

(@ =

4n

(®)
@)=

)=

A — BEM-D-HTM



88. % f(x) &1 Aade (FREE) =41
g7

(@ 10z
(b) 207
- (¢) 40n

(d) 80x

AW 3 (02) WAt 3 forg fordar

freffed g = wfbw sk smh s ar

BT f(x) = 3x* — 20x> — 12x2 + 288x + 1

R fEr Hifig

89. frafafaa ﬁ q frm saue # wem
I § ?

(@) (-2, 3)
() G, 4)
© (3,-2)
@ 4,-3)
90. fFrafafas 3 & e s & wem
TEAF ® ?
(@ (-2, 3)
(b) (3, 4)
(©) (4, 6)
d (6,9

BEM-D-HTM - A
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HETHT W (03) WAt & forg e

P g < wf ofk amh am o
9 I & IR A

A i fs -
Sx)=x2+2x - 53K gx)=5x+30 %

91.

I ] f(x)] = 0 3 76t a1 & 2
(a) 1, =1

(b) -1, -1

(c)#81%]

e (D) s

92.

93

freafafen ot = fer fifm .

1. f[g(x)] ¥1d 3 T TF gg ® |

2. glg(x)] W 2 1 T g 2
e 3 2 o /2 e 2 0
(a) Hae 1 '

(b) e 2

(©) 13K 23

(d) TA1RTE 2

TR ) = 51 - xg) & A hx)

FaherSt T § ?
(a) —40

(b) —20

(c) 10

@ o0



88.

Directions for the following two (02) items :

What is the period of the function
J&x)?

(a) 107
(b) 20x
(c) 407

(d) 80z

Read the following information and answer
the two items that follow :

Consider the function

JS&x)

=3x%—20x3 — 12x2+ 288x + 1

89. In which one of the following intervals

90.

is the function increasing ?
@ (-2 3)

®) G, 4)

© (-3,-2)

@ (-4, -3)

In which one of the following intervals
is the function decreasing ?

(@ (2,3)
(b) G, 4)
(c) (4 06)
(d) (6,9

31

Directions for the Sfollowing three (03)
items : '

Read the following information and answer
the three items that follow :

Let f(x) =x*>+ 2x— 5 and g(x) = 5x + 30
91. What are the roots 61‘ the equation
gl/(x)]=07?
(@ 1,-1
(®) -1, -1 |
(). &1
@ 0,1

92. Consider the following statements :
1. f[g(x)] is a polynomial of degree 3.
2. g[g(x)] is a polynomial of degree 2.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

93. If h(x) = 5f(x) — xg(x), then what is the
derivative of h(x) ?

(a) —40
(b) —20
(c) -10
@ 0

A - BEM-D-HTM



AW 2 (02) WeAT & g Frdar -

Frefafea go=m & afeg sk smr s 9
o W & IR S

AT ]

! xd.x I __'J"‘ (n.—x)dx

0 1+sinx 0 1—sin(7 +x)

R fER Fift

Il=

Y. ARG ?

(@) 0

n
(b) 5,
) n
d) 2«

95. I, + I, 1 HF T © ?
(@) 2xn
®) =

7
(©) 5
@ o

96. tan y = (1 — &*) G Tq 7T F5H-Ft
Frefta o arern s gt @
(a) e*tanydx+(1-e)dy=0
(b) e*tan ydx+ (1 - e*)sec’ydy =0
(c) e*(1—eYdx+tanydy=0
(d) e*tanydy+ (1-e%dx=0

BEM-D-HTM - A
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97. sin x % "el F 269 G srEcHeST AT

98.

27

(@) sinx 26inx? 14
(b) 2sinx 265 4
(c) In(sinx) 26in’

(d) 2sin x cos x 26 %

k% T W % forg wem
2x+:1;- , x<0
- f(x)=1k% , x=0 Haa g ? ,

(2)

B—=

(b)

©
@ 2

ek Ml"‘

99. T 32 =2x 3R TER@l y=x % o=

ielg &% &1 8w 1§ ?
(a) %aﬁwré

4
(0) 5wt wamd

(d) 1% zard




Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Consider the integrals

J"'-’ xdx and 12=J‘” (7 — x)dx

0 1+sinx 0 1-sin(z + x)

1 =

94. What is the value of 1} ?
(@) 0
: /4
L)%
(© =

(d) 2n

95. What is the value of I; + 1, ?
(a) 2n
®) =
n
c —
(© 5
(d 0

96. The differential equation which repre-
sents the family of curves given by
tan y = ¢(1 —€*) 1s

(a) e*tanydx+ (1 —e*)dy=0
(b) e* tan ydx + (1 — e¥)sec?ydy =0
(c) e*(1-e¥)dx+tanydy=0
@ e".tanydy+(1—e")dx=I0

33

97. What is the derivative of 2(5'“") with
respect to sinx ?

(a) sinx 26" % In4
(b) 2sinx 2609’ 14
(¢) In(sinx) 26’

(d) 2sin x cos x 26 x)?
98. For what value of k is the function

2x+l o X
4

f(x)=1k , x=0 continuous ?

12
(x+—] s x>0
L 2

()

=

(b)

N | =

(© 1
@ 2
99, What is the area of the region enclosed

between the curve »*=2x and the
straight line y=x ?

(@) % square units

square units

4
(b);

1 :
(©) 3 Square units

(d) 1 square unit

A — BEM-D-HTM
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1oo.w&f(x)="?—%+6x+7aimarﬁ

101.

102.

A & SR Siae § F g g, @
et ¥ o ad 2 2

(@) T=(-o,2)U (3, )3 =(2,3)
() T=¢ 3R §=(-w, )

(€) T=(-oo, ) 3R §=¢

@) T=(2,3)3RS=(~o,2)U (3, »)
T et 58 wahR sifea (weraraet)
? T =o% o s & dwe 5% we
T Y AT B g A A I R

=6 foah & i @ o §, afts
aiftres oY w2 it wifear w=r & 7

(a) 0-16
(b) 0-48
(c) 0-58
(d) 098

e I H 20 forare € et ¥ 5 frarat
G € | Al 3 foRare amgsear (W)
T STl €, 3R A9 7 A o witremas
% AR freet st €, @
uirerar & 6 @t 1 fraet @
€2

(a) 0-009

(b) 0016

(c) 0-026

(d 0047

BEM-D-HTM - A
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103. IR 34 3 fow g et (mﬁ)

104.

105.

22,24,33,37,x+ 1, x+3, 46, 47, 57,
58 it wiferenr (Hifem) 42 R | wi=a
IR B Vvl F 7T FAY: T 7
(a) 42, 45

(b) 41, 43

(c) 43, 46

(d) 40, 40

10 NIt 1 THIGK ATEA 60 B, 3K 50
fememt & w1 @1 GRS 5000 ¥ |
VeIt 1 WA Taaa T © ?

(a) 20
(®) 21
(c) 22-36

(d) 2470

afE p 3R g WHIET X2 - 30x +221 =
aﬂf{%,?-ﬁp3+q3ﬁﬂﬂ'ﬁ'¢m% ?

(a) 7010
(b) 7110
(c) 7210

(d) 7240




% ox
100. If f(x)= T +6x+ 7 increases in

the interval 7 and decreases in the
interval S, then which one of the
following is correct ?

(@) T=(-x,2)U (3, o) and $=(2, 3)
(b) T'=¢ and §= (-, ©)
(¢) T=(-, ©) and S=¢

(d) T=(2,3)and S= (-, 2) U (3, »)

A coin is biased so that heads comes
up thrice as likely as tails. For three
independent tosses of a coin, what is
the probability of getting at most two
tails ?

101.

(a) 0-16

(b) 0-48
(c) 0-58

(d) 0-98

A bag contains 20 books out of which
5 are defective. If 3 of the books are
selected at random and removed from
the bag in succession without replace-
ment, then what is the probability that
all three books are defective ?

102.

(a) 0-009
(b) 0-016
(c) 0026

(d) 0-047

35

103.
v 33537 xkls X35 46,547, 57458in

104.

105.

The median of the observations 22, 24,

ascending order is 42. What are the
values of 5th and 6th observations
respectively ?

(a) 42, 45
(b) 41, 43
(c) 43, 46

(d) 40, 40

Arithmetic mean of 10 observations is
60 and sum of squares of deviations
from 50 is 5000. What is the standard
deviation of the observations ?

(a) 20
(b 21
(c) 22:36

(d) 2470

If p and g are the roots of the equation
%2 —30x + 221 = 0, what is the value of

P+ ?
(a) 7010
(b) 7110
(c) 7210

(@) 7240

A - BEM-D-HTM
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107.

108.

6x+y=30 3R 3x+2y=25 1%, 7
AR & T FTHY: TS ?

20 35
a) —, —, —-0-5
@ 3.9

2
(b) -2, 2’ 0'5
3. 9

35
(c) _" -22, _0'5
9.3

35 20
73 ) W= e R
(d) 9,3,05

T dRERAT 9Roit § same we (|t
#F) 5, 10, 15, 20, 25, 30, 35, 40, 45,
50 fou %2 € | wowt wiw it (Fat) i
it €@ (s ferfie) €

(@ 3-7, 7-13, 13-17, 17-23, 23-27

(b) 2-5-7-5, 7-5-12-5, 12-5-17-5,
17-5-22.5, 22-5-27-5

(c) 1-5-8-5, 8-5-11-5, 11-5-18-5;
18-5-21-5, 21-5-28-5

(d) 2-8, 8-12, 12-18, 18-22, 22-28

I DVET S AT 44 €, R WEROT
8-24 ¥ | gfe uiw % & = oy 1, 2 3R
6 %, 1 37 qY e  § ?

(@ 9,16
(b) 9,4
(c) 81, 16

(d) 81,4

BEM-D-HTM - A

36

109. af; wF foes R weer R s T

110.

T ST 8, o wiiey wwfe (e
wY) M| ?

(@) {H}
(b) {TH}

() (E HD HAT HHHT . 5.0 }
(d)" {H) THITH, VETTEL ... i) .. }
Frafafea fafas (sraa) arawan
wed R TR fifvg .
23| MR 2 8 =S R ST L6157 | 8
f3|15]|45(57|50|36(25|9
seq it wifere (Hifsas) & w= @
g7
(@) 4
®) 5
(c) 6
d 7

111.

T UTH U Gy $ 9§ | 39 9 R
w1 @ fF 97 | weRe @
() ot deEEt W ANEE U
HATST HET § ?

5
(a)TZ_

1
(b)E

7
(c) E

2
@) s



106. For the variables x and y, the two

regression lines are 6x+y=30 and
3x +2y=25. What are the values of

X, y and r respectively ?

2 35

’ ’ -05
349

(2)

208435
=5 =505
W0 5

35 20
ST, e § -0-5
(© 5° 3

35520
d =, =, 05
@ 353

The class marks in a frequency table
are given to be 5, 10, 15, 20, 25, 30,
35, 40, 45, 50. The class limits of the
first five classes are

(a) 3-7, 7-13, 13-17, 17-23, 23-27

(b) 2-5-7-5, 7-5-12-5, 12-5-17-5,
17-5-22-5, 22-5-27-5

(c) 1-5-8-5, 8:5-11-5, 11-5-18-5,
18-5-215, 21-5-28:5

(d) 2-8, 8-12, 12-18, 18-22, 22-28
. The mean of 5 obsewaﬁoné is 4-4 and
variance is- 8-24. If three of the five

observations are 1, 2 and 6, then what
are the other two observations ?

@@ 9,16
(b) 9, 4

(c) 81,16
@) 81, 4

37

109. If a coin is tossed till the first head

appears, then what will be the sample
space ?

(@ {H}
(b) {TH}
(¢) {T, HT, HHT, HHHT, ............... )

(@) "{H; TH, TTH, TTTH, L...ccvverenr }

" 110. Consider the following discrete fre-

quency distribution :

ol 2 11344 |25 §x6sl] 7 |8

S |13|15|45|57|50(36(25(9

What is the value of median of the
distribution ?

(a) 4

® 5

(c) 6

@ 7

111. Two dice are thrown simultaneously.

What is the probability that the sum of
the numbers appearing on them is a
prime number ?

(a)

(®)

(©)

@ 3

A — BEM-D-HTM



112.

113.

afs frlt St 3 10 Rt 7ot # @

5 ¢ IS AT S qU (ST Ter)
TRl FRd AR 3 g St F g T I
®, A = wiftreran 2Rl fos g T g
HT T IS HIFR I G TR AT ?

(@)
(b)

(c)

— 5',_, 00|W 00—

G

TF o ¥ 3 Ry € | um Riwr 1
IR @ amen R; e R e
(fFreae) R; ok drexr foaar st
(Eraragel) @ st 75% R fa s
? | 5 i F & i uw Ry ages
(X=7) I S @ 3R ST S 2,
ar Sew e smar R | s wifeRar @ 5
Tg Tl AR o aren Rieer ar 2

(@
(®)

(c)

Ol O|h W= O

(d)

114. Fr=fafaa ot w fmr i

1. afg 4 3Rk B wer Fqafifa weamd
€ @ u® @@ ¥ 5 P4)=P(B)
=068 |

2.9 4 3R B HE H o weaw™
3| TR § f& p4B)=18, @

P(Bl4)=1%

BEM-D-HTM - A

38

115.

116.

S 3 3 =/ w2
(a) e 1 |

(b) e 2

(c) 13R23Ht

() TA 1 ARTE 2

afe o =R (o) amn 4 sw

el ST €, A F Wi € fy
T8I SNh-31h 2 B: AT WY 7

i
@ 216
25

®) 216

125

© 36

175

@ 16

100 W&l H WET 50 ® AR WA
fomem 10 % | afe e & H 5 i
fean sma, @ 7@ wex R AT WS
ot e @ B 2

(a) 50, 10
(b) 50, 15
()

(d)

55, 10

83, 15




112. If 5 of a Company’s 10 delivery trucks

do not meet emission standards and 3
of them are chosen for inspection, then
what is the probability that none of
the trucks chosen will meet emission

standards ?

(2)

(®)

0|Ww 00w

L

()=

@ g

113.

114.

There are 3 coins in a box. One is a
two-headed coin; another is a fair coin;
and third is biased coin that comes up
heads 75% of time. When one of the
three coins is selected at random and
flipped, it shows heads. What is the
probability that it was the two-headed
coin ?

@ 2
® 3
© 3
@ 2

Consider the following statements :

1. If 4 and B are mutually exclusive
events, then it is possible that
P(4) = P(B) = 0-6.

2, If A and B are any two events such
that P(4|B) = 1, then P(B[A) = 1.

39

115.

116.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If a fair die is rolled 4 times, then what
is the probability that there are exactly
2 sixes ?7

ST

25

(b). 216
125
(© 216
175

d 216

Mean of 100 observations is 50 and
standard deviation is 10. If 5 is added
to each observation, then what will
be the new mean and new standard
deviation respectively ?

(a) 50, 10

(b) 50, 15

(c) 55,10

(d) 55, 15

A — BEM-D-HTM



117. 7f3 & =) ¥ R Jeoit F uw wgsaa

118.

I (W) 25 ¥R Al y=40+3x
®, W Y R W NGt F THeI BT S
FATE ?

(a) 25

(b) 40
(c) 75

(@ 115

afe veeht 15 gl w1 W v
IR A M R, & v+ M2 frad SeR
®7? '

(a)
(®)
(©)

@ =

BEM-D-HTM - A

40

119.

120.

T $R 98 60 km, 3v km/hr S 161 &
T SR © STefeh 3R 60 km, 2v km/hr
H 9T ¥ T KA § | FR A g
T HTR ?

(a) 2-5v km/hr
(b) 2-4v km/hr
(¢) 2-2vkm/hr
(d) 2-1v km/hr
fort Fem F 150 BT 1 steE aw
60 kg ® | WS N AEd a9 70 kg
sk wefrdt &1 sitaa 99 55kg ¥ |

FET W wS@ AR wslhal N e
way: fRat @ 7

(a) 753R 75
(b) 50 3R 100
(c) 70 3R 80
(d) 100 3R 50



117.

118.

If the range of a set of observations on
a variable X is known to be 25 and if
Y =40 + 3X, then what is the range of
the set of corresponding observations
on Y?

(a) 25
(b) 40
(c) 75
@ 115

If V is the variance aﬁd M is the mean

of first 15 natural numbers, then what
is ¥+ M? equal to ?

) ==

(b)—

(Clfs

(@)

41

119. A car travels first 60 km at a speed
of 3v km/hr and travels next 60 km at
2v km/hr. What is the average speed of
the car ?

(a) 2-5vkm/hr
(b) 2-4v km/hr
(c) 2-2v km/hr

(d) 2-1v km/hr

120. The mean weight of 150 students in a
certain class is 60 kg. The mean weight
of boys is 70 kg and that of girls is
55kg. What are the number of boys
and girls respectively in the class ?

(2) 75 and 75
(b) 50 and 100
(c) 70 and 80

(d) 100 and 50

A - BEM-D-HTM



